RAELHERIIKREFRK =
E S
2013 4F
B=tEeEELMHM P HHEZRLF

e esti-py

(—) BEFERE.

(C) BEMEREERAENEBEN [BE], SERES—IER.
(=) EHRNERB=7, #HRPERN—72, MERZES.

INSTRUCTIONS TO CANDIDATES
1. Attempt all questions.

2. Pick the correct answer and make a mark “X” in the circle
provided in the answer sheet. Only one answer is allowed for each
question.

3. Three marks for a correct answer, one mark will be deducted for
each wrong answer. No mark will given to each question not
attempted.
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. NIMTE N HESI IR AE?

(a) SHKE
(b) EFEAEHES
(c) =E3h
(d) ULEER
(e) a5 ¢ &XS
FEMZI I, AR BONG ) LR B A7 S 2 H B i s ?
(a) H—M
(b) FH—N=/NH (first trimester.)
(c) H_-/N="H (second trimester)
(d) FE="=/H (third trimester)
(e) FHNLMAH
E—NESEYE P EE, M. REMERN, Ei2
(a) VIZH P (primary consumers)
(b) ¥ Er=# (primary producers)
(c) RZIHYF#H (secondary consumers)
(d) RZHErF7# (secondary producers)
(e) JBE&F#H (detritivores)
KEBGF D24 B AR RKHRIS TR FIMRT 2 D 10 1R A 38 s B 2
(a) 3G n R ik i) afn i
(b) LBEREAC
(c) RPN I U 4
(d) WP
(e) TREAIKATIITH K

AR P RIS T ZE (shoots) #[A] G R W (phototropic responses)?

(a) A=K Z(auxins)

(b) 7% 2 (gibberellins)

(c) #iMf %< % (cytokinins)

(d) 75 TR (abscisic acid)

(e) <Jfi(ethylene)
Y AR N F R ERIERT, FPARRKE ATP Z NN ?

(a) FBEEEA (glycolysis)

(b) B LB (acteyl CoA)

(c) HEAMKIEHR (Krebs cycle)

(d) JRIKF#EERAL (substrate-level phosphorylation)

(e) HLFALHMEFRIL (electron transport phosphorylation)
FEME (sucrose) 2 ZHsE

(a) PINRBEDT

(b) MIAHIERE T

() —MRWEDTF— D ENE DT

(d) —MNRBESTF— AT

(e) PN FILBES T
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8. B IHE A RNA #2228 A i M R A
(a) ¥ (transcription)
(b) ¥ (translation)
(¢) JA3) (initiation)
(d) #ZEK (elongation)
(e) EHill (replication)
9. EZH & P N IR) R K 00 2
(a) HIHH (prophase)
(b) GI1 ¥
(c) G2
(d) H27% (mitosis)
(e) 7r%MIE] (interphase)
10. G SRACEEXUTT # & — M EERE L R i 2, TN = f 2 /DA
& IR I E IR
@ 1/8
(b) 1/4
(c) 12
@) 1/2X1/2X 1/4or 1/16
(©) 2/3X2/3X 1/4or1/9
11. BRGBITIRTER G 22 KA e fe
(a) HF:E R AduE
(b) A es 75 N AZBE A4 () F
(c) THIRTENZIRIIE L
(d) BAerE EA ERiRA AL (cell-recognition sites)
(e) ity v AN A i AR 48 s
12. KF¥¥ (natural selection) H1E 4142
Ca) e 55 W
(b) AAEAF ML
(o) i feid B P R R e s D 250 Ja AR
(d) £ 3R BEIEA PRI PAEE o i 0 5 AR
(e) FE—JRHE b BU3 ] 44 K A% 5 1) LL A
13. fEM MBI FIEE I8 L2857 (genetic variation) i R RIE /2
(a) FRAF (mutations)
(b) PEEZ (sexual recombination)
(c) 1LFE (selection)
(d) ZZ&M: (polymorphism)
(e) PFatEHEMZE T (recessive masking heterozygotes)
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14, 1 AT RE P 40 AL D BE 50 48 LRI & = AE T ?
(a) &M (tracheids)
(b) ARFE4UAE (cork cells)
(c) F% T vessel elements
(d) JEEEZIH (sclerenchyma cells)
(e) ULER
15. SRALEYA DR KB 41 o & 1 e & Y2
(@) H0
(b) CO,
(©) NOs
(d O
(e) CeHi20e
16. FHIAIFIAE T3 E RGH—M?
(a) ‘HH% (skeleton)
(b) Z4F4 2 (connective)
(c) THIARS (digestive)
(d) HEM RS (excretory)
(e) IENMERS (immune and lymphatic)
17. AeeEE A&
(a) RZLFEAEAZ (essential vitamins)
(b) EFRARK—F R
(c) TEW, &, KUiEEHH TR IR
(d) Bz —PEEZ MU TERIEM (essential amino acids)
(e) BRI i A& 2 — gt
18. 3 (AIDS) s&ilid frap 7 SAE 4L 21, ERZ
(a) MEW
(b)y k%
(c) HEIBIREFIERR
(d) B JBEEfh
(e) =X
19. NHFYIE B HESI I DIRE, B T
(a) ZYIFEBRNFE
(b) I H A K
() i Za] A R T (1% B 6
(d) FRIEHIE AL
(e) HEVTIIE R
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20. A FiEZE (hormones) NS 5 IUMEIR B A48 0 2
(a) FHHEZ (glucagon)
(b) B LEJE (epinephrine)
(c) BERJIIE (glucocorticoids)
(d) ACTH (&'E bRz
(e) MERE
21, NI H AL SR A I S2 A5 15 T2
(a) BPEL (ovary)
(b) HmONE
(c) T8
(d) FEH (cervix)
(e) FHIE
22. NHIA—RTENERIH R R A IR E), 15T ok
(a) 5 RVE MV (AR H A2 FH VAR A% e i HA R 1)
(b) B FhEiR
(c) ‘BEJErEHEAEAED
(d) EMAETFHLHE 25 F
(e) BRI Z 4N
23, NAMAFI AR IR & e B 5% 8 AL 63 ?
(a) #7% (community)
(b) HEE RS (ecosystem)
(c) AHUAERE (organismal)
(d) Fh#E (population)
(e) R4 (abiotic)
24, FTHILR 2 HIUAE R RS L, TERZ
(a) [E—¥Fhrh (A 2 (8]
(b)  A[EIYFR b e 2 (8]
(c) [El—¥pffrh (e 2 (8]
(d)  A[EYpFR b e 2 (8]
(e)  [Al—4fh rp Py 1 55 1 2 TA]
25. Endau Rompin EZH 2 (National Park) 2 75 R 75 MV [ K — M 42
(a) Perak
(b) Pahang
(c) Johor
(d) Sabah

(e) Sarawak
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Which of the following are characteristic of vertebrates?

(a) askull

(b) the backbone of vertebrates consists of bone

(c) can move

(d) all of the above

(e) bothaandc
During which of the following periods of gestation does a developing human undergo
the most numerous and most radical changes?

(a) first week.

(b) first trimester.

(c) second trimester

(d) third trimester

(e) ninth month
In a hypothetical food chain consisting of grass, grasshoppers, sparrows, and hawks,
the grasshoppers are

(a) primary consumers

(b) primary producers

(c) secondary consumers

(d) secondary producers

(e) detritivores
Which of the following is a physiological response that takes place in many animals
when they get too hot?

(a) increase blood flow to the skin

(b) slowing of the heart rate

(c) constriction of blood vessels in the skin

(d) constriction of muscles

(e) retention of water
Which of the following types of hormones mediates the phototropic responses of
shoots?

(a) Auxins

(b) gibberellins

(c) cytokinins

(d) abscisic acid

(e) ethylene



10.

11.
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When glucose is used as the energy source, the largest amount of ATP is produced in
(a) glycolysis.
(b) acteyl CoA formation.
(c) the Krebs cycle
(d) substrate-level phosphorylation
(e) electron transport phosphorylation.
Sucrose is composed of
(a) two molecules of fructose
(b) two molecules of glucose
(c) amolecule of fructose and a molecule of glucose
(d) a molecule of fructose and a molecule of galactose
(e) two molecules of galactose
The transfer of genetic information from RNA to protein is called
(a) Transcription
(b) translation
(c) initiation
(d) elongation
(e) replication
The longest part of the cell cycle is
(a) Prophase
(b) Gl phase
(c) G2 phase
(d) mitosis
(e) interphase
If both parents are carriers of a recessive gene, the probability that their child will

inherit and express the disorder is

(a) 1/8
(b)y 1/4
(c) 112

(d) 172X1/2X 1/4o0r1/16
(e) 2/3X2/3X1/40r1/9
Drugs that are effective in treating viral infections
(a) induce the body to produce antibodies.
(b) inhibit the action of viral ribosomes.
(c) interfere with the synthesis of viral nucleic acid.
(d) change the cell-recognition sites on the host cell.

(e) produce vaccines that stimulate the immune system.
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12. The best descriptive of natural selection is
(a) the survival of the fittest.
(b) the struggle for existence.
(c) the reproductive success of the members of a population best adapted to the
environment.
(d) the overproduction of offspring in environment with limited natural resources.
(e) achange in the proportion of inheritable variations within a population.
13. The greatest source of genetic variation in plant and animal population is from
(a) mutations
(b) sexual recombination
(c) selection
(d) polymorphism
(e) recessive masking heterozygotes
14. Which of the following cells are dead at functional maturity?
(a) tracheids
(b) cork cells
(c) vessel elements
(d) sclerenchyma cells
(e) all of the above
15. The inorganic compound that contributes most of the mass to a plant’s organic matter
is
(a) HxO
(b) CO,
(c) NOs
(d) O
(e) CeH1206
16. Which of the following that does not belong to an organ system?
(a) skeletal
(b) connective
(c) digestive
(d) excretory
(e) immune and lymphatic
17. Incomplete proteins are
(a) lacking in essential vitamins
(b) a cause of undernourishment
(c) found in meat, eggs, and cheese
(d) lacking in one or more essential amino acids

(e) aresults of overcooking vegetables



2013 EEECHFHELRNE  £YEE

18. AIDS may be transmitted by the following ways:
(a) saliva
(b) dining together
(c) have sex with the virus carrier
(d) skin contact
(e) through air

19. All of the following are functions of the vertebrate liver except
(a) detoxification of drugs and toxins
(b) synthesis of plasma proteins
(c) interconversion of glucose and glycogen
(d) synthesis of urine
(e) synthesis of bile
20. Which of the following hormones is not involved with the increasing the blood glucose
concentration?
(a) glucagon
(b) epinephrine
(c) glucocorticoids
(d) ACTH (adrenocorticotropic hormone)
(e) Insulin
21. In which location does fertilization usually take place in a human female?
(a) ovary
(b) oviduct
(c) uterus
(d) cervix
(e) vagina
22. Please point out a statement which does not correctly describe palm oil.
(a) Palm oil is the oil extract from palm kernel fresh fruit
(b) Its boiling point is high compared with other cooking oils
(c) The crop was originated from West Africa
(d) The economic life is 25 years
(e) It contributes a lot to the national economy
23. Which level of ecology considers energy and chemical cycling?
(a) community
(b) ecosystem
(c) organismal
(d) population
(e) abiotic
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24. Fighting is more likely to occur between

(a) males of the same species

(b) males of different species

(c) females of the same species

(d) females of different species

(e) males and females of the same species
25. Endau Rompin National Park is located at which state, Malaysia.

(a) Perak

(b) Pahang

(c) Johor

(d) Sarawak

(e) Sabah



